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2 = of & o o kLN — HZE2 —
= Al 462,096,654 | 100.00% 457,077,429 | 100.00% 5,019,225 1.10%
2 EHS| A 384,010,015 83.10% 379,665,180 | 83.06% 4,344,835 1.14%
EE3A 78,086,639 | 16.90% 77,412,249 16.94% 674,390 0.87%
SILSESN 23,122,883 5.00% 23,576,758 5.16% A453,875| A 1.93%
& - ot=EBIIHEE A 23,122,883 5.00% 23,576,758 5.16% A453,875| A 1.93%
JIEtSE 3 A 54,963,756 | 11.89% 53,835,491 11.78% 1,128,265 2.10%
d=zz0II=2Z 1,497,685 0.32% 1,508,620 0.33% 211,935 A0.79%
FUASTE & MEOHA 1,640,162 0.35% 1,484,373 0.32% 155,789 10.50%
Nzey
OIDIEHETAIHEAIE 243,497 0.05% 243,497 0.05% 0 0.00%
N
SUXNASR=HHEAS 5,165,365 1.12% 5,165,365 1.13% 0 0.00%
FEFEHI AKX ALY 16,237,672 3.51% 16,237,672 3.55% 0 0.00%
sSNTAZEAY 2,996,064 0.65% 2,011,653 0.44% 984,411 48.94%
HEIENANEMMEE 27,183,311 5.88% 27,183,311 5.95% 0 0.00%
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